

Srinath Anandulu

27/5/21

14 (Ex 10.12)

$$y = \frac{(x+1)^2 (x-2)^{3/2}}{(x-1)(x-3)^{1/3}}$$

$$\frac{dy}{dx} = \frac{u \frac{dv}{dx} + v \frac{du}{dx}}{u^2}$$

$$u = (x+1)^2 (x-2)^{3/2}$$

$$\frac{du}{dx} = 2(x+1)(x-2)^{3/2} + 3(x+1)^2 (x-2)^{1/2}$$

$$v = (x-1)(x-3)^{1/3}$$

$$\frac{dv}{dx} = 1 + \frac{1}{3}(x-1)(x-3)^{-2/3}$$

$$\frac{dy}{dx} = \frac{u \frac{dv}{dx} + v \frac{du}{dx}}{u^2} = \frac{2(x+1)(x-2)^{3/2} + 3(x+1)^2 (x-2)^{1/2}}{(x-1)^2 (x-3)^{2/3}} + \frac{(x-1)(x-3)^{1/3}}{(x-1)^2 (x-3)^{2/3}}$$

$$= \frac{2(x+1)(x-2)^{3/2} + 3(x+1)^2 (x-2)^{1/2}}{(x-1)^2 (x-3)^{2/3}} + \frac{1}{(x-1)(x-3)^{1/3}}$$

$$= \frac{1}{2} \frac{(x+1)^2}{(x-2)^{1/2}} + 2(x-2)^{1/2} (x+1)$$

$$y = \frac{(x+1)^2 (x-2)^{3/2}}{(x-1)(x-3)^{1/3}}$$

$$\frac{dy}{dx} = 2 \frac{du}{dx} + \frac{u}{v} \frac{dv}{dx}$$

$$\frac{dy}{dx} = 2 \frac{du}{dx} + \frac{u}{v} \frac{dv}{dx}$$

$$= 2 \frac{d}{dx} [(x+1)^2 (x-2)^{3/2}] + \frac{(x+1)^2 (x-2)^{3/2}}{(x-1)(x-3)^{1/3}} \cdot \frac{d}{dx} [(x-1)(x-3)^{1/3}]$$

$$\frac{v dv}{dx} = \frac{u dv}{dx}$$

$$= \frac{1}{2} \frac{u^2}{(x+2)^{1/2}} + 2(x-2)^{1/2} (x+1) \sqrt[4]{(2x-1)(x-2)^{1/3} + 2(x-3)^{1/3}}$$

$\frac{dv}{dx}$

$$\left[\frac{1}{2} (2x-1)(x-3)^{4/3} \frac{(x+1)^2 + 2(x-2)^{1/2} (x+1) - 4(x+1)^2 (x-2)^{1/2} (2x-1)}{(x-2)^{1/2}} - \frac{4(x+1)^2 (x-2)^{1/2} (2x-1)}{3} \right] dx$$

$$\left[\frac{1}{2} (2x-1)(x-3)^{4/3} \frac{(x+1)^2 + 2(x-2)^{1/2} (x+1) - 4(x+1)^2 (x-2)^{1/2} (2x-1)}{(x-2)^{1/2}} - \frac{4(x+1)^2 (x-2)^{1/2} (2x-1)}{3} \right] dx + 2(x-3)^{4/3} \left[\frac{1}{3} (2x-1)(x-3)^{4/3} \right] dx$$

$$\left[(2x-1)(x-3)^{4/3} \right] dx$$

$$\int_{-1}^1 (x^2 + 1)^{1/2}$$

$$= \int_{-1}^1 x^2 + 1$$

$$= \int_{-1}^1 x^2 + \int_{-1}^1 1$$

$$= \left[\frac{x^3}{3} + x \right]_{-1}^1$$

$$= \left(\frac{1^3}{3} + 1 \right) - \left(\frac{(-1)^3}{3} + (-1) \right)$$

$$= \left(\frac{1}{3} + 1 \right) - \left(-\frac{1}{3} - 1 \right)$$

$$= \frac{1}{3} + 1 + \frac{1}{3} + 1 = \frac{2}{3} + 2 = \frac{2 + 6}{3} = \frac{8}{3}$$

$$= \frac{2}{3} + 2 = \frac{2 + 6}{3} = \frac{8}{3}$$

$$= \frac{2}{3} + 2 = \frac{2 + 6}{3} = \frac{8}{3}$$

$$= \frac{2}{3} + 2 = \frac{2 + 6}{3} = \frac{8}{3}$$

$$\int_{-1}^1 (x^2 + 1)^{1/2} = \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \int_{-1}^1 (x^2 + 1)^{1/2} dx$$

$$= \frac{1}{4} + 2u^{1/2} = \frac{1}{4} + 2u^{1/2} = \frac{1}{4} + 2(x^2 + 1)^{1/2}$$

$\int_0^{2\pi} \cos(x) dx = \sin(x) \Big|_0^{2\pi} = \sin(2\pi) - \sin(0) = 0 - 0 = 0$
 $\int_0^{2\pi} \sin(x) dx = -\cos(x) \Big|_0^{2\pi} = -\cos(2\pi) + \cos(0) = -1 + 1 = 0$

$$\int_0^{2\pi} \cos(x) dx = \sin(x) \Big|_0^{2\pi} = \sin(2\pi) - \sin(0) = 0 - 0 = 0$$

$$\int_0^{2\pi} \sin(x) dx = -\cos(x) \Big|_0^{2\pi} = -\cos(2\pi) + \cos(0) = -1 + 1 = 0$$

Ex $\int_0^{2\pi} \cos(x) dx = \sin(x) \Big|_0^{2\pi} = 0$

$$u = \sin x \implies du = \cos x dx$$

Integral of $\sin^2 x = \frac{x}{2} - \frac{\sin(2x)}{4}$
 $\int \sin^2 x dx = \frac{x}{2} - \frac{\sin(2x)}{4} + C$